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NEW QUESTION 1
Which of the following software license models allows a developer to modify the original code and release its own version of the application?

A. Proprietary software

B. Commercial software
C. Open source software
D. Cross-platform software

Answer: C

NEW QUESTION 2
A company requires several reports that analyze related information from sales, inventory, marketing, and compensation datA. Which of the following is the BEST
place to store this data?

A. Flat file

B. Word processor
C. Database

D. Network share

Answer: C

NEW QUESTION 3
Which of the following computing devices would be used to provide a centralized means to distribute services to a group of clients and usually possesses a role on
a LAN?

A. Laptop

B. Workstation
C. Mobile phone
D. Server

Answer: D

NEW QUESTION 4
The sales department needs to keep a customer list that contains names, contact information, and sales
records. This list will need to be edited by multiple people at the same time. Which of the following applications should be used to create this list?

A. Database software

B. Word processing software
C. Conferencing software

D. Presentation software

Answer: A

NEW QUESTION 5
For a disaster recovery exercise, a company wants to ensure customer data is recovered before operational data. This is an example of:

A. redundancy.
B. replication.

C. prioritization.
D. fault tolerance.

Answer: C

NEW QUESTION 6
Which of the following are the basic computing operations?

A. Input, process, output, and feedback
B. Input, output, storage, and feedback
C. Input, process, and output

D. Input, process, output, and storage

Answer: D

NEW QUESTION 7

The broadcast signal from a recently installed wireless access point is not as strong as expected. Which of the following actions would BEST improve the signal
strength?

A. Update from 802.11b to 802.11g.

B. Ensure sources of EMI are removed.

C. Enable WPA2-Enterprise.

D. Use WiFi Protected Setup.

Answer: B
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NEW QUESTION 8
For which of the following is a relational database management system MOST commonly used?

A. Building flowcharts
B. Storing information
C. Generating reports
D. Creating diagrams

Answer: B

NEW QUESTION 9
Which of the following operating systems do not require extensions on files to execute a program? (Select TWO).

A. Windows 7

B. Windows 8

C. UNIX

D. Windows Server 2012
E. Android

F. Linux

Answer: CF

NEW QUESTION 10
A user is buying a laptop. The user will have a lot of personal and confidential information on the laptop. The user wants to ensure data cannot be accessed by
anyone, even if the laptop is stolen. Which of the following should be set up to accomplish this?

A. Encryption
B. Compression
C. Permissions
D. Auditing

Answer: A

NEW QUESTION 10
Which of the following BEST describes a kilobyte?

A. A kilobyte is a measurement of storage (e.g., 100KB).

B. A kilobyte is a measurement of throughput (e.g.,100Kbps).

C. A kilobyte is a measurement of power (e.g., 100KW).

D. A kilobyte is a measurement of processor speed (e.g., 2.4KHz).

Answer: A

NEW QUESTION 12
Malware infections are being caused by websites. Which of the following settings will help prevent infections caused by Internet browsing?

A. Turn on private browsing

B. Delete browsing history on program close.

C. Notify when downloads are complete.

D. Configure prompting before downloading content.

Answer: D

NEW QUESTION 16

Which of the following would MOST likely prevent malware sent as compromised file via email from infecting a person’s computer?
A. Email previewing

B. Patching

C. Clear browsing cache

D. Kill process

Answer: B

NEW QUESTION 21

Which of the following is MOST likely used to represent international text data?
A. ASCII

B. Octal

C. Hexadecimal

D. Unicode

Answer: D

NEW QUESTION 24
A startup company has created a logo. The company wants to ensure no other entity can use the logo for any purpose. Which of the following should the company
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use to BEST protect the logo? (Select TWO).

A. Patent

B. Copyright
C. NDA

D. Trademark
E. EULA

Answer: BD

NEW QUESTION 26

Which of the following allows wireless devices to communicate to a wired network?
A. Modem

B. Switch

C. Firewall

D. Access point

Answer: D

NEW QUESTION 31

Which of the following data types should a developer use when creating a variable to hold a postal code?
A. Integer

B. String

C. Float

D. Boolean

Answer: B

NEW QUESTION 36

A desktop administrator just connected a printer to a workstation, but the workstation does not recognize the printer. Which of the following does the workstation

MOST likely need for the printer to function?

A. Permission
B. Ink cartridge
C. USB cable
D. Driver

Answer: D

NEW QUESTION 40
Which of the following is a value that uniquely identifies a database record?

A. Foreign key
B. Public key

C. Primary key
D. Private key

Answer: C

NEW QUESTION 45
The IT department has established a new password policy for employees. Specifically,

o Passwords must contain at least one special character.
o Passwords must be different from the las six passwords used.

o Passwords must use at least one capital letter or number.
Which of the following practices are being employed? (Select TWO).

A. Password lockout

B. Password complexity
C. Password expiration
D. Passwords history
E. Password length

F. Password age

Answer: BD

NEW QUESTION 46

Which of the following security concerns is a threat to confidentiality?
A. Replay attack

B. Denial of service

C. Service outage
D. Dumpster diving
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Answer: A

NEW QUESTION 51
Given the following pseudocode:
If the Breakfast program ran on Sunday, which of the following would be the output?

A. Oatmeal

B. Bacon and eggs
C. Waffles

D. Pancakes

Answer: C

NEW QUESTION 55
A computer user is downloading software from the Internet and notices the following at the end of the install file: “...x86.exe”. Which of the following statements
BEST represents what the “...x86.exe” means in the installation file?

A. x86 only supports an installation on a 32-bit CPU architecture.

B. x86 supports an installation on a 32-bit and a 64-bit CPU architecture.
C. x86 only supports an installation on a 64-bit CPU architecture.

D. x86 supports an installation on a 16-bit CPU architecture.

Answer: A

NEW QUESTION 59

A user is getting an error message when trying to go to a website. A technician asks the user a few questions to find out more about the issue. The technician
opens a browser locally and browses to the same site as the user. Which of the following troubleshooting steps is the technician using by browsing to the same
site?

A. Establish a plan of action.
B. Gather information

C. Duplicate the problem.

D. Find the root cause.

Answer: C

NEW QUESTION 64
Which of the following actions is the FINAL step in the standard troubleshooting methodology?

A. Document the solution and cause.
B. Create a new theory of cause.

C. Research the problem online.

D. Implement preventive measures.

Answer: A

NEW QUESTION 69
Which of the following BEST describes an application running on a typical operating system?

A. Process
B. Thread
C. Function
D. Task

Answer: A

NEW QUESTION 74

Which of the following language types would a web developer MOST likely use to create a website?
A. Interpreted

B. Query

C. Compiled

D. Assembly

Answer: A

NEW QUESTION 76

Which of the following is an advantage of installing an application to the cloud?
A. Data is not stored locally.

B. Support is not required.

C. Service is not required.

D. Internet access is not required.

Answer: A
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NEW QUESTION 80
Which of the following is a wireless communication that requires devices to be within 6in of each other to transfer information?

A. Infrared
B. NFC

C. Bluetooth
D. WiFi
Answer: B

NEW QUESTION 84
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